Worksheet Section 4.1-4.3

Short Answer

10.

11.

12.
13.
14.
15.

Chauge the degree measure to radian measure. Exact value only.
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230°

—-366°

Change the radian measure to degree measare. Exact value only.
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In each case, find the smallest pesitive coterminal angle.

42°
~95°

Express the given function as a function of a positive acute angle.

tan(~93°)

[[l:r]
cos| ~——
4.

Find the quadrant where the following angles lie in.
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—152°
sec < O,cot8>0
csc@<0,5ecd>0
Find the exact length of the radius on a circle which intercepts an arc of length 127 ft and is subtended by

4
the central angle of -—5- radians.
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34.

3s.

36.

Find the exset value.
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37, tan]
cse 270° 4
sin 390¢ 38. Siﬂ(?&')
tan{--304°) Ve
cot(~270°) 39. S‘“(“}“]
sn 330 C Vix
cot 720° 40. cos LT
cos 150°
—I
cos 0° 41. cot M]
L O
tan{—450°)
cse(—1357) 42. sin é;]
sec(—480%)
Zrno a
cos 135° 43, tan” 60° +cot45
tan(-30°) 44. tan| — | esin z
4 6
7
cos| —
. 45. cot[;] +sec2a
3 Find the value of the following functions. Round your answer
to four decimsl places.
cos(~47) 46. 1tan61°23'
(57 47. sec280°45'S52"
csc —E
o Find the exact value of the following trigonemetric functions
{37) by using tnanglea.
cosy — ~4 3
L 2 ) 48. Ifcott?“"; andsmé':“ ﬁndcosf?
(37 -5 2
e 49. Ifcos @=— and tan 8= =, find sec 8.
\ 13 S
| 3x 2
s "“;" 50. Ifcos Gm-; and csc <0, find tan .
| [ 9:':]
tan T
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